

FOURTH POWER FIBONACCI IDENTITIES FROM PASCAL'S TRIANGLE

VERNER E. HOGGATT, JR. and MARJORIE BICKNELL

San Jose State College, San Jose, California

In this paper, matrix methods are used to derive some new fourth power Fibonacci identities. We let S be the 5×5 matrix which contains the first five rows of Pascal's triangle beneath and on its secondary diagonal; that is,

$$S = \begin{bmatrix} 0 & 0 & 0 & 0 & 1 \\ 0 & 0 & 0 & 1 & 4 \\ 0 & 0 & 1 & 3 & 6 \\ 0 & 1 & 2 & 3 & 4 \\ 1 & 1 & 1 & 1 & 1 \end{bmatrix} .$$

The right column elements of $S^n = (s_{ij})$ are given by

$$s_{i5} = \binom{4}{i-1} F_n^{5-i} F_{n+1}^{i-1}, \quad i = 1, 2, \dots, 5.$$

Proof is by induction. Obviously, S has this form. Since

$$S^{n+1} = (t_{ij}) = SS^n,$$

by definition of matrix multiplication,

$$t_{15} = F_{n+1}^4,$$

$$t_{25} = 4F_{n+1}^4 + 4F_n F_{n+1}^3 = 4F_{n+1}^3 F_{n+2},$$

$$\begin{aligned} t_{35} &= 6F_{n+1}^4 + 12F_n F_{n+1}^3 + 6F_n^2 F_{n+1}^2 = 6F_{n+1}^2 (F_{n+1}^2 + 2F_n F_{n+1} + F_n^2) \\ &= 6F_{n+1}^2 F_{n+2}^2, \end{aligned}$$

$$\begin{aligned} t_{45} &= 4F_{n+1}^4 + 12F_n F_{n+1}^3 + 12F_n^2 F_{n+1}^2 + 4F_n^3 F_{n+1} \\ &= 4F_{n+1} (F_{n+1}^3 + 3F_{n+1}^2 F_n + 3F_{n+1} F_n^2 + F_n^3) = 4F_{n+1} F_{n+2}^3, \end{aligned}$$

$$t_{55} = (F_n + F_{n+1})^4 = F_{n+2}^4 .$$

Since only the recursion relation of the Fibonacci sequence was used above, we have almost immediately a matrix identity for generalized Fibonacci numbers. Let u_n be the n th member of the generalized Fibonacci sequence defined by $u_1 = a$, $u_2 = b$, and $u_{n+1} = u_n + u_{n-1}$. Let $U = (a_{ij})$ be the column matrix defined by

$$a_{i1} = \binom{4}{i-1} u_1^{5-i} u_2^{i-1}, \quad i = 1, 2, \dots, 5.$$

By our earlier proof, we can write

$$S^n U = S^n \begin{bmatrix} u_1^4 \\ 4u_1^3 u_2 \\ 6u_1^2 u_2^2 \\ 4u_1 u_2^3 \\ u_2^4 \end{bmatrix} = \begin{bmatrix} u_{n+1}^4 \\ 4u_{n+1}^3 u_{n+2} \\ 6u_{n+1}^2 u_{n+2}^2 \\ 4u_{n+1} u_{n+2}^3 \\ u_{n+2}^4 \end{bmatrix} = U_{n+1}.$$

By the Cayley-Hamilton Theorem, S must satisfy the matrix equation

$$(1) \quad S^n(S^5 - 5S^4 - 15S^3 + 15S^2 + 5S - I) = 0.$$

Consideration of Equation (1) leads us to the matrix equation

$$(1') \quad U_{n+5} - 5U_{n+4} - 15U_{n+3} + 15U_{n+2} + 5U_{n+1} - U_n = 0,$$

where U_n is defined as the matrix $S^{n-1}U$. Since the elements in the first rows of the matrices of Equation (1') must also satisfy the recursion relation of (1'), we have the identity

$$u_{n+5}^4 - u_n^4 = 5(u_{n+4}^4 + 3u_{n+3}^4 - 3u_{n+2}^4 - u_{n+1}^4).$$

Equation (1) can be rewritten as

$$(S - I)^5 = 25S^2(S - I).$$

It can easily be shown by induction that

$$(S - I)^{4n+1} = 25^n S^{2n} (S - I) .$$

We plan to investigate

$$(2) \quad (S - I)^{4n+1} = 25^n S^{2n} (S - I) ,$$

$$(3) \quad (S - I)^{4n+2} = 25^n S^{2n} (S - I)^2 ,$$

$$(4) \quad (S - I)^{4n+3} = 25^n S^{2n} (S - I)^3 ,$$

$$(5) \quad (S - I)^{4n+4} = 25^n S^{2n} (S - I)^4 ,$$

From Equation (2),

$$S^j (S - I)^{4n+1} = \sum_{i=0}^{4n+1} (-1)^i \binom{4n+1}{i} S^{i+j} = 25^n S^{2n+j} (S - I) .$$

Thus, equating elements in the upper right corner of these matrices,

$$(2') \quad \sum_{i=0}^{4n+1} (-1)^i \binom{4n+1}{i} F_{i+j}^4 = 25^n (F_{2n+j+1}^4 - F_{2n+j}^4) = A_j .$$

Similarly, from Equations (3), (4), and (5), we obtain

$$(3') \quad \sum_{i=0}^{4n+2} (-1)^i \binom{4n+2}{i} F_{i+j}^4 = 25^n (F_{2n+j+2}^4 - 2F_{2n+j+1}^4 + F_{2n+j}^4) \\ = A_{j+1} - A_j ,$$

$$(4') \quad \sum_{i=0}^{4n+3} (-1)^i \binom{4n+3}{i} F_{i+j}^4 = 25^n (F_{2n+j+3}^4 - 3F_{2n+j+2}^4 + 3F_{2n+j+1}^4 - F_{2n+j}^4) \\ = A_{j+2} - 2A_{j+1} + A_j ,$$

$$(5') \quad \sum_{i=0}^{4n+4} (-1)^i \binom{4n+4}{i} F_{i+j}^4 = 25^n (F_{2n+j+4}^4 - 4F_{2n+j+3}^4 + 6F_{2n+j+2}^4 \\ - 4F_{2n+j+1}^4 + F_{2n+j}^4) \\ = A_{j+3} - 3A_{j+2} + 3A_{j+1} - A_j .$$

But, also from (2),

$$\sum_{i=0}^{4n+5} (-1)^i \binom{4n+5}{i} F_{i+j}^4 = 25^{n+1} (F_{2n+j+3}^4 - F_{2n+j+2}^4) = 25 A_{j+2} ,$$

so that we have the recursion relation

$$(6) \quad A_{j+4} - 4A_{j+3} + 6A_{j+2} - 4A_{j+1} + A_j = 25 A_{j+2} .$$

By use of well-known Fibonacci identities, we can rewrite Equations (2') and (4') respectively to yield the following:

$$\sum_{i=0}^{4n+1} (-1)^i \binom{4n+1}{i} F_{i+j}^4 = 25^n F_{2n+j-1} F_{2n+j+2} F_{2(2n+j)+1} ,$$

$$\sum_{i=0}^{4n+3} (-1)^i \binom{4n+3}{i} F_{i+j}^4 = 25^n L_{2n+j} L_{2n+j+3} F_{2(2n+j)+3} .$$

Equating elements in the first row of the column matrices formed by multiplying Equations (2) and (4) on the right by the matrix U, and taking $u_1 = 1$, $u_2 = 3$, we can rewrite Equations (2') and (4') to yield the identities

$$\sum_{i=0}^{4n+1} (-1)^i \binom{4n+1}{i} L_{i+j}^4 = 25^n (5L_{2n+j-1} L_{2n+j+2} F_{2(2n+j)+1})$$

and

$$\sum_{i=0}^{4n+3} (-1)^i \binom{4n+3}{i} L_{i+j}^4 = 25^n (5F_{2n+j} F_{2n+j+3} F_{2(2n+j)+3})$$

for fourth powers of members of the Lucas sequence $\{L_n\}$.

Returning to the recursion relation of Equation (6), we define

$$G(j) = F_{n+j+4}^4 - 4F_{n+j+3}^4 - 19F_{n+j+2}^4 - 4F_{n+j+1}^4 + F_{n+j}^4 .$$

By (6),

$$25^n(G(j+1) - G(j)) = A_{j+4} - 4A_{j+3} - 19A_{j+2} - 4A_{j+1} + A_j = 0 .$$

Thus, $G(j+1) - G(j) = 0$, so that $G(j)$ is a constant. Taking $n = j = 0$, $G(j) = -6$, leading to an identity given by Zeitlin in [1]. If we redefine $G(j)$ by replacing the Fibonacci numbers by the corresponding Lucas numbers, we find that $G(j) = -150$. Further, if we replace members of the Fibonacci sequence by the corresponding generalized Fibonacci number, we obtain $G(j) = -6D^2$, where D is the characteristic of the sequence,

$$D = u_2^2 - u_1^2 - u_1u_2 .$$

(See [2] and [3] for properties of the characteristic of Fibonacci-type sequences.)

Finally, we derive another property of the characteristic of a sequence. It is well-known that $F_{2n+3} = 3F_{2n+1} - F_{2n-1}$ and that $F_{2n+1} = F_{n+1}^2 + F_n^2$. Define

$$G(n) = F_{n+1}^2 - 3F_n^2 + F_{n-1}^2 .$$

Then,

$$G(n+1) + G(n) = F_{2n+3} - 3F_{2n+1} + F_{2n-1} = 0 ,$$

so that $G(n) = (-1)^n 2$. That is,

$$(-1)^n 2 = F_{n+1}^2 - 3F_n^2 + F_{n-1}^2 .$$

For generalized Fibonacci numbers, it can be shown by induction that

$$R^n U = \begin{bmatrix} 0 & 0 & 1 \\ 0 & 1 & 2 \\ 1 & 1 & 1 \end{bmatrix}^n \begin{bmatrix} u_1^2 \\ 2u_1u_2 \\ u_2^2 \end{bmatrix} = \begin{bmatrix} u_{n+1}^2 \\ 2u_{n+1}u_{n+2} \\ u_{n+2}^2 \end{bmatrix} .$$

The 3×3 matrix R given above has been discussed in an earlier article [4]. From the characteristic equation of R , we obtain

$$u_{n+3}^2 - 2u_{n+2}^2 - 2u_{n+1}^2 + u_n^2 = 0 .$$

Rewriting and defining $H(n)$,

$$H(n) = u_{n+2}^2 - 3u_{n+1}^2 + u_n^2 = -u_{n+3}^2 - u_{n+1}^2 + 3u_{n+2}^2 = -H(n+1) .$$

Thus,

$$H(n) = (-1)^n(u_2^2 - 3u_1^2 + u_0^2) = (-1)^n 2(u_2^2 - u_1^2 - u_1 u_2) = (-1)^{n+1} 2D ,$$

where D is the characteristic of the sequence. That is,

$$(-1)^n 2D = u_{n+1}^2 - 3u_n^2 + u_{n-1}^2 .$$

REFERENCES

1. David Zeitlin, "On Identities for Fibonacci Numbers," The American Mathematical Monthly, 70(1963), pp. 987-991.
2. Brother U. Alfred, "On the Ordering of Fibonacci Sequences," The Fibonacci Quarterly, 1:4, Dec., 1963, pp. 43-46.
3. A. P. Boblétt, Elementary Problem B-29, The Fibonacci Quarterly, 1:4, Dec., 1963, p. 75.
4. Verner E. Hoggatt and Marjorie Bicknell, "Some New Fibonacci Identities," The Fibonacci Quarterly, 2(1964) Feb., 1964, pp. 29-32.

XXXXXXXXXXXXXXXXXXXX

NOTICE TO ALL SUBSCRIBERS!!!

Please notify the Managing Editor AT ONCE of any address change. The Post Office Department, rather than forwarding magazines mailed third class, sends them directly to the dead-letter office. Unless the addressee specifically requests the Fibonacci Quarterly be forwarded at first class rates to the new address, he will not receive it. (This will usually cost about 30 cents for first-class postage.) If possible, please notify us AT LEAST THREE WEEKS PRIOR to publication dates: February 15, April 15, October 15, and December 15.

RENEW YOUR SUBSCRIPTION!!!